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8.1.3. Residuals when the model iIs
correct

e Look at residual plot 6" N (o, 5L)
y-axis = fesiduals © ~ N (0, ¢ (1- H))
xX-axis = term / combination of terms / fitted values

e Let U be any combinations of terms, we expect
the Null_Plot ’é
"l i !

E(e,|U)=0
» Mmeanlevel =0

- % 1%
Var(e, | U)=c*(1—h,) Fror, >K / 2 /

= variance is roughly constant (since h; are usually small)
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« The point with high leverage (h;~1) have small variance
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8.1.4. Residuals when the model iIs

NOT correct
e Residual plot far from the Null Plot

Mean level not 0

____________

Variance not constant
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